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Date from to HFIY ¥R 244
12:00 B
13:00 14:00 fo—=25(Pa=7H)
8/25 14:00 17:00 rL—=24
(XK) 15:30 16:30 HEEER. EvyUBRm
17:00 17:30 BEE-SA4—XI—FT425
Date to H73Y) EE 244
10:30 EFEM
8/26 11:00 12:50 —=24
(&) 12:00 12:30 BRREETS
12:30 12:40 TLR-Z—F1Y
13:00 TFDa=T ATk F3%(200 M FTT)
BFoaz=7 ATk F3#(200 M FTT)
BFx)—k F—Ls-18—2 21 —k4 km) FiE
B¥x)—k F—Ls- AT M3E) FiE
BFPa=7 ATk 1/4;R (551 [E]E)
14:15t8 7N
BFTaz7 ATk 1/4:R (552 [E] )
BFx)—+ F—Ls- 18— 2—M4 km) 1-2{ iR E B
BFTaz7 ATYk 1/4;R B (ZE3 B ER)
ZFI)—+ F—Ls- AT N3E) IFIE Y
BFx)—+k F—L- ATYUMNBE) 3-4fi R E B
BFT)—*k F—Ls-RFYUMIE) 1-203 R TE B
FFTY—F F—L-sV—22—MN4 km) FE
XFIY—F F—L-X T N3E) (12%E2—)
FFTU—+ F—L-RTYZN3/E) FExl
BFTaz7 ATk 1/2;R (551 [E]#R)
BFx)—k IYIR—3ay
BFPaz=7 ATk 1/2;R (52 [E] E)
15:50t8 R
BFTaz7 ATk 1/ 2RI (EE3EE)
BFTl—F TYSHR—23> FE =
N
BFoaz7 ATk 3-4fi iR E B (EE 1 [E1ER)
TFDa=T ATk 1-2{3 R E B (1 B
BFTaz7 ATk 1-2{30 R 72 B (55 1 [E1 )
N
BFa=7 ATk 34 R TE BR(EE 2 [E BK)
TFOa1=7T ATk 1-2{31 iR E B (5E 21 5)
BFTaz7 ATk 1-2{30 R 72 B (SR 2 [E B
VN
BFoa=7 ATk 3-44S7 SR 7E BR (55 3[EIBK)
ZFTaZ7 ATk 1-2{30 R 72 B (5B 3 [E )
BFPaz7 ATk 1-2{30 iR TE B (5 3E18)
ZFSa=F RTYA FEzt
17:0068 FF2=rF  ITYSk FE
17:00 17:30 HEERRE, v Rh
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Date to HFIY ¥R 244
9:30 EFHM
8/27 10:00 11:50 f—=24
() 11:00 11:30 BEEETE
11:30 11:40 TLR =T
12:00 TFI)—h 2Tk F3i#(200 M FTT)
BFT)—Fk ATk %3&(200 M FTT)
ZFI)—h FL=T L I R9ZvF(1.5km)
N
BFTU—F ATk 1/4;R B (51 [B15)
ZFI—+ FL=T L I F2R-L—2R(7.5km)
13:40t8 7N
BRTl—h 2Tk 1/4iR (552 [E] 8X)
L FITI—h A L=T L m Tysr—=3v
BFoa=7 RA9Z9F (10 km) R
BFxU—* RA9ZvF (15 km) R
BFT)—F ATk 1/4;R B (EE3E] EE)
IREE 1 /4 RBEESEBINHNIE
ZFI—+ ATk 1/2;R B (51 B15)
BFx)—+ ATk 1/2;R (551 B 8R)
ZFI—h FL=ZT L IV RA2kL—Z (20km)
ZFI—hk ATk 1/2;R (52 [E]15)
BFT)—F ATk 1/2;R (552 [m] E)
BFaz=F ROZwF (10 km) &
BFTY—F ROZwF (15 km) FKE =t
VN
ZFI—h ATk 1/2;R B (ZE3E]E)
BFxxy—* ATk 1/ 2R BH(EE3EE)
ZFIT—+ FALZFA FEat
17:00t8 3
ZFI—t ATk 3443 SR FE B (55 1 [E1BK)
BFTU—F ATk 344 R TE B (55 1 [E18K)
ZFI—h ATk 1-230 R E B (55 1 [EBR)
BFx)—* ATk 1-2{0 iR TE B (5 1 E15)
BFT—+ < T4 (30km) R
ZFI—h ATk 3-4fi iR TE B (EE2[E15)
BFx)—* ATk 3-44i SR FE B (55 2[E BKk)
ZFI—+ ATk 1-2 iR FE B (S5 2[E18)
BFx)—+ ATk 1-2(30 R E B (SE 2 [E B)
N
ZFI—hk ATk 3-447 SR FE B (55 3[E BKk)
BFx)—+k ATk 3-4L iR TE BR(EE 3E1EK)
ZFI—h ATk 1-2{32 iR 7E Bk (55 3[E15)
BFxU—* ATk 1-2{30 iR E B (55 3E15)
FFTU—F S 0Z% F. 374
ZFITY—F RTY, Fgzt
19:008 FFIU—F RTYf FE
17:00 17:30 HEERRE., v URfm
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Date from to ST EE 244
9:30 EFHM
8/28 10:00 11:50 f—=24
() 11:00 11:30 BEEETE
11:30 11:40 TLR =T
12:00 INZH AU 500mBA LS AT IL(WC2, 3) R
INGH AU AkmBALRSAT7IL(MC2, 3, 4,5, WB, MB) Rk
INSHLOYT" 500mB4LRSLTIL FE=t
INSHALOYLT hkmBEALLISLTFIL FE
BFT)—F FAL=T L I X9ZvF(10km)
BFOaAT TA) 51 E 8
7N
BFI—Fh FLZT L I 7R L—Z(10km)
BFoa=7 A B E 1R
BFx)—k TA4)Y 10
14:3068 R
BFT)—+k FAL=TF L m TYsxr—=3v
ZTFD1=T RA9Z9F (1.5 km) R
ZFI—+ RA9ZvF (10 km) R
BFT)—+k AL=T L IV R/ kL—ZR (25km)
BFoaz7 L) 1/2:R8
ZFa1=ZF ROSwF FE=
ZFIY—F ROZYF (10 km) F. 374
FFTY—F FL=F L4 FEzt
16:50tE R
BFoaz7 TAL) T-12{REE;
BFxT)—hk A 71240 R E B
TFDa=7 TA)Y R
BFoaz7 T4 R
ZFI—h A R
B¥xx)—k T4 R
XFI1=F T FE=l
BFLF a4 FE
KFI—F e /% FE
18.00L8 ZFFI!)—F Ty FEg
17:00 17:30 HEERSE, Ty iRm
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Date from to HFIY ¥R 244
7:30 EFHM
8/29 8:00 9:50 KB/ FL—=2F
(A) 9:00 9:30 BEREEITAEE
9:30 9:40 TLR =T
10:00 TFD1=T 2kmfEAN/S—a—k Fi&E
BFoa=7 3kmf@ AN/ S—>2—F TiE
ZFI)—h 3 kmfEAN/S— 21—k FiE
BFT)—h 4 kmfEAN/S—Pa—b B8
INSHAHYY 3 kmBEA/S—Sa—k(WC2, 3-MC2., 3-WB) R
INSHA9YT 4 kmfEA/S—L 21—k (MC4, 5-MB) R
12:15t8 TFOa2Z7T 500 m B4 LkSAT7IL R
BFPaz7 1 km B4 LMSAT7IL R
XFI—Fk 500 m B4 LbSATIL R
BFx)—* 1 km B4 LSAT7IL R
TFDaZT 2kmEAN/S— 21—k -4 R TE B
B¥oaz=7 3kmfE A/ S —22—k -4 R TE B
ZTFD1=T 2kmfE A/ S —2 21—k 1-2{3 R B
BF¥Taz=7 3kmE AN/ S—2—k 1-2{3 iR TE B
ZFI)—Fk 3 kmfE AN/ S—>a—Fk -4 R TE B
BFx)—k 4 kmfEAN/XN—22—b 3-SR TE B
ZFI—hk 3 kmfEA/S—L2—F 1-2{i iR E B
BxI—k 4 kmfEA/S—2 21—k 1-2{ iR E B
14:15t8 INSHLOYT 3 kmfBA I/ N—Sa—~(WC2, 3-MC2, 3-WB) FKEizt
INSHALOY2LT 4 kmfAA/V—2—~(MC4, 5-MB) FE
ZFIT—F 500 m ZBLALFSLTIL FExl
FFTY—F 1km ZBLLFSLFIL FEzt
XFI2=F 2kmEN s ¥—>2—F FE
BFa2=F SkmfEN s N—22—F F. 374
ZFIY—F 3 kA /N—S 2 —F FEzt
FBET—f 4 kmfBA s ¥— 2 —F Fgzt
ZFL2ZT RAk-L—Z (10 km) R
BFPaz=7 RA2 k- L—ZR (15 km) R
BFx)—* RA k- L—2ZR (30 km) R
XFP1=F KL, L—X (10 km) FE
BFa2=7 KA, L—X (15km) FE =t
170006 ZFFI)—F KA, -L—X (30 km) FE




